" LINEAR EQUATIONS &

1. Write equations for the following statements :
{(n) 4 added 10 8 number gives 2 less than twice the number.

{(b) Three-fourths of n number plus five gives 23.
(¢) If 6 more than u number is multiplied by 3, the result is 24,
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’% EXERCISE 8.1
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times the smaller number. Find the numbers.
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3. The ratio of two numbers is 8 : 7. If 2 is subtracted from both the numbers, the ratio changes to
7 : 6. Find the numbers.
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4. Divide 32 info two parts such that 5 times one part added to 6 times the other part gives 164. "
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5. The one’s digit of a two digit number is double the digit in the teos place. If the sum of the digits g

is 9, find the number.
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9 less whan the original number. Find the number. .
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sum of the number and the number obtained by reversing the digits is 66. Find the number. -
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& The sum of the digits of n two digit number is 12. The number oblained by reversing the digits
is 36 greater than the original number. Find the number.
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i, The denominator of a rational number is | Jess than twice the numerator. If 6 is added 1o both

the numerator and the denominator, 2 n
nator, the number becomes T Find the rational number
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i1, The length of a rectangle exceeds the breadth by § cm. Find the area of the rectangle, if its

perimeter is 180 cm.
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12, The breadth of a rectangle is 3 less than the length. If both length and breadth are reduced by

L units, the area of the rectangle reduces b q. units. Find the dimensions of the original
tangle. : [HoTs]
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13, The length of a rectangle is 3 more than twice the breadth of the rectangle. If the length is reduced
by 5 units and the breadth is increased by 3 units, the area remains the same. Find the dimensions
of the original rectangle and also the area.
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i4, Karan is 2 years older to Teja now. After 4 years, their ages will be in the ratio 11 : 10. Find
their present ages.
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1. Five years ago, Ananyn's mother was 5 times as old as Ananya. If her mother is now three times
as old as Ananya, find their present ages. [1ore]
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16. Rm':nﬂhrhmﬂnﬂhunuldultm‘:mug Afier 2 years, her mother will
be 10 years more than twice Reema's age. Find their present ages. [ricvs)
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17. Five years ago, Raju was twice as old ns Peter. Five years later, hhliﬂwmhimm
Peter's age. Find their present ages.
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18. ﬁmmmmmm&-nmmmh4hmnﬂmm
the same distance upstream in 5 hours. Find the speed of the steamer, if the water is flowing at

a speed of 1.5 kmph. =

Sob Wb e Speed of e Sheomer be % kmfh.
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20, A man leaves hdfnfmmpﬂtruﬁlvih.mdﬂﬂhhiimudlhnminhshhhdmuhm.
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21. Shipra has three boxes A, B and C. Bu!ﬁwddl!-i klnmmmbouﬂnﬂhu{.'wd]hﬂl
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22. A purse has some € 2 coins and € 5 coins. The total value of the coins is ¥ 165. If the number
of ¥ 5 coins are 5 more than the ¥ 2 coins, find how many coins of each are there in the purse.

ﬂ. Lot the Mumbey of Coing £ 2. be > ,
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A1 MULTIPLE CHOICE QUESTIONS

Tick (v') the correct option :

x 7
1. If T=g=g then the value of x is :

Ok (b) 6 N & ) 8

15
2, If J'-?-:ﬁ,tlm the value of y is :

@ 27 Vg © 13 @ 2

3 5
3. The root of the equation 21+ﬁ=? is:

2 =5 =7
@ x=% ® x=3 © x=3F =T

4, Solution to the equation @ + 3 = 2{a — 2) is :

F_.,,-"'J' -
{a) a =-6 (b a==6 ey a=7 {d) a =8
5 If Zx-l=.t-l, then the value of x is :
373 =
(a) 1 (b) -1 ‘) 0 (d) 2
6. Solution to the equation 5(x -3) -4 (x - 2) =0 is :
& x =17 (b) x = -7 (c) x=8 (d) x=-8
7. If 4m + 3 = 3m - 4, then the value of m is :
O (b) 7 (c) 8 (d) -8
8 If 2x+§=%+l, then the value of x is :
1 1 ~ 1 1
= 5 w ey = e
(a) 3 (b) 3 (c) r; (d) 7
A T L o o
9, Solution to the equation T i
2 2 1 -
\_,(s).rwg (b)x-—j ic) x 3 I:n:l}.r——3

10, A number whose seventh part exceeds its eighth part by 2, is :
(a) 58 \_ (b) 56 (©) 64 (d) 68

4~ VALUE BASED QUESTIONS

1. In an examination, a student requires 40% marks to pass
(a) If Kishore gets 302 marks and fails by 18 marks, find the total marks,
(b) If Sudha gets 85% marks, how many marks does she get?
(c) Which qualities does Sudha have?

(d) Which qualities are missing in Kishore?

éﬁ (a) lat Hthe doted maris got b Kishoe be x-.
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Lﬁ* wvivkul Raj is a social worker, In his village there was no school building. Mukul donated & '
rectangular plot of land for school building. The dimensions of the plot are in the ratio 10 : 3.

| He also donated ¥ 15,600 to fence the plot a1 T 50 per m.
£ (a) What are the dimensions of the plot?

Egd () Find the area of the plot.

:f (c) Which value does Mukul Raj depict?
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[§F~ MENTAL MATHS

‘AWrite T Tor true and F for false statements : .
& 1. On multiplying both sides of an equation, by & non-zero integer, the equation

[

remains unchanged.

& 2.a*-5a+4=0is a linear equation

[

3, 4x - 3y + 5 in & linear equation in two variables.
4. We can transpose any term of an equation frpm one'side 10 another.

| 5. The root of the equation 7x + 12 = 10x is x = 3.

ﬁ.lfm.\"l-n-ﬂ.tlun:-—:‘*.

7. The value of the variable which satisfles the equation is called the root of the equation.

#. Solution to the equation ﬁx—:-! isx =1
0, II'% = 2.5, then, x = 150

10, Ir§+l-3—§.lhmduwlu¢ufxil!.
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